DECLINATION (J2000)

40 41 49.79 — .
- O
7
49.78 — Q 3
)
% O 00 O r
49.77 — °
49.76 — Q0
'~::| :;\: ! &
49.75 — N
o .
’ A Q :,/"'\"\: ) oy
i O ‘:‘
0 )
49.73 {
@./) | | S | |
08 22 57.562 57.561 57.560 57.559 57.558

Plot file version 2 created 10-MAY-2006 15:17:09
J08229+4 IPOL 4844.709 MHZ J08229+4041.ICLN.1

-
i

RIGHT ASCENSION (J2000)
Peak contour flux = 1.9043E-01 JY/BEAM
Levs =9.000E-04 * (-1, 1, 2, 4, 8, 16, 32, 64,
128, 256, 512, 1024, 2048, 4096, 8192)
Pol line 1 milli arcsec = 5.0000E-03 RATIO




